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Type 1 and Type II Encs.

Tower I we not to achieve a high powers.

Tudsofbetween Type Iand Type IIErus.

gature is the key.

p-wake.
Me extence, the valueoftet static.

· etive.
· Holutge:

Siture - antimatic colulation.

· Deicism rule

Example:P,222.2):1 - P,2>2.4
=1 - 0.0139
=996.

Sincethis is two huge.
we can just decide "do not reject the Ho".

ificence about a population proportion.

fetofhypotless about population proportion p.

z=pes
The simple size a should be surficient.

upo? 15una ncrpos=15

Example

Ho:: +5 aL Ha:p30.5 Reject Hof 23 Z0.05
2 > 1.645

2.80 > 1.645

z:2.80 so wejust the H.



Two-sample fence.

Comprison. Hass populations). For now, whytwo populations.
i.e. Hwal incureofhigh school in Massachusetts and New Hampshire.

fidence interval and testofhypothesis in inference.

Byrne on determation

Paired?:Ifthe aeta past from thejust suple is associate with one uniqual data pointfrom the seen simple.

Independent? Ithe chte
parts from

thefat simple are undial to indivatal data points in the seal sample.

Example:

Reception times of6 inlichals with abolic stimulant and I inlicals without
my
stimulats.

these are independent
.
variables we the same. there is no association.

But the samples are collected maler lifest conditions.

paired date

weights ofI individuals, begine and after theyreceived treatments.

weights can be feet being and after.
so theywe called "paired"

Pared simples next he the same suple size.

Independet samples can have either the same or different suple sizes.

Example:

two simple hypothesis testingfu mean Decision rule:

critical values

test- statistic: E:FS approach

Assumptions:1. Both suples are large,
2. Samples are different.

Hypothesis:No:Junyua:Do=0 (mostofthe times Do
=0)

Haiyu, you,Br. 30

OR Hanyu,yuu > Do so



Haiyu, qus +Do to p-value:P232.799
=0.5 - P- z-2.79/

Cfidence Interval:
=0.5-0.4974
=0.0026.

-x - Ys =Z) #i
Confidence

-53.3-51.5) =1.96jt

2 =1.4) =70.59. 3.41)

Example: Does the interal catains o?

So we gut: techsent and

placebo grp

this isindependent simple

Castruct a 95%afiolence interval to the afference ofthe two population mean

Assumptions:
Both populations are usuallydistributed
Two suples we independent

invariances
are equal

to statistic:Ihe

where spirits


